
https://www.leads4pass.com/4a0-100.html
2024 Latest leads4pass 4A0-100 PDF and VCE dumps Download

 

 

 

4A0-100Q&As

Alcatel-Lucent Scalable IP Networks

Pass Alcatel-Lucent 4A0-100 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/4a0-100.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

 

 

4A0-100 Practice Test | 4A0-100 Study Guide | 4A0-100 Exam Questions                                1 / 3

https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html


https://www.leads4pass.com/4a0-100.html
2024 Latest leads4pass 4A0-100 PDF and VCE dumps Download

QUESTION 1

Which three of the following are important considerations when designing subnets? (Choose three.) 

A. Number of subnetworks currently required. 

B. Type of physical connectivity used by each segment. 

C. Future network growth requirements. 

D. Number of hosts each subnetwork will support. 

E. Class of the network address to be used for the network. 

Correct Answer: ACD 

 

QUESTION 2

Which of the following is a characteristic of Link State protocols? 

A. Routers send a copy of their entire routing table to their neighbors. 

B. Routers send frequent periodic updates to the entire network. 

C. Routers know the entire network topology. 

D. Routers use hop-count to calculate their routing tables. 

Correct Answer: C 

 

QUESTION 3

Who was responsible for developing and publishing the original standard that was used for 10 Mbit/s Ethernet? 

A. Intel Corporation. 

B. Digital Equipment Corporation. 

C. DEC-Intel-Xerox. 

D. Apple Computer. 

E. IBM. 

Correct Answer: C 

 

QUESTION 4

What is the name for an organization that provides Internet services to its customers? 
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A. An Internet content provider 

B. An Internet service provider 

C. An enterprise 

D. A regional Internet registry 

Correct Answer: B 

 

QUESTION 5

Which of the following is NOT a valid log source in a Nokia 7750 SR? 

A. Main 

B. Security 

C. Syslog 

D. Debug 

Correct Answer: C 

4A0-100 Practice Test 4A0-100 Study Guide 4A0-100 Exam Questions

Powered by TCPDF (www.tcpdf.org)

4A0-100 Practice Test | 4A0-100 Study Guide | 4A0-100 Exam Questions                                3 / 3

https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html
http://www.tcpdf.org
https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html
https://www.leads4pass.com/4a0-100.html

